" TATOU

OWNER'S MANUAL

Revised august 2005



TABLE OF CONTENTS

L e 0= 1 PO
AUOVICE D0 DB .. eeeos e ceeccs s esrsnma i srssmsms s mresms rms e sms ms s e se s mms pms n s mngms b mns mme e nnnenemnenmn r nnsmnnnms ol
STy PrEBCAUIONS. .o i eeieiisirs e sesmnsssmns e smssessessms e nmssns sesmssns sessns sessmsnsssassnsnsssassssnessmsnssrsssmsnssnns il
Tips and tricks

EMIEIENICY O0IS ...t ie isiee e rorins s sesmns sosmns e ot e ms nms e nmssns sas bodBes Hasmd ss 5ot 04 Has bedm0s pod bedmes pmbmnerssmsnesnnsnne sl

=1 = 11 1T USRI , = L -

LI LA (T SRR -
b Lo T L = RN | §
o= T [ DO PPPPRE -1 - - 3 - | 1131 o =1
User notice and disClaimier (... e series e ses i ses v srs e sessma s ses s ses sms sesnms sesnnasnsssensssnsnnssennns 1 1= 1

If a problem concerning the warranty of your TATOU system should arise, and if your

local authorized dealer cannot solve it, please contact us. 1-888-533-0008. From & am to
5 pm, monday to friday eastern time.

Congradulation on choosing the quality Tatou tracks system,conceived to bring you many days
of enjoyment during your wintery excursions.

Please read this owner's booklet carefully, it will answer all the questions you may have
concerning this product. It is also very important to read your ATV's owner manual and
follow all the safety requirements. These rules also apply to your Tatou tracks.

Consult with your local, provincial or national authorities about the regulations pertaining track

equipped vehicles. You should also get informations from off-road vehicles clubs concemning
the use of tracks on their estates.

" TATOU

1



This owner's manual has been carefully drafted in order to allow an easy installation of TATOU
track system.

®

\'4

<,
\

Mote :

Please read entirely this owner's manual. It will allow you to become better acquainted
with the security recommendations, the assembly procedures and the proper
functioning of the tracks. It is also advisable to communicate this information to
anyone who will use this equipment. When transferring or selling the track, transfert
the manual too.

TATOU cannot be hald responsible for the changes that the use of track could bring to the
handling of the vehicle.

Even when equipped with track, it is important to respect the towing
capacity specified by your vehicle manufacturer and all the recom-
mandations regarding the stability warnings that are mentioned in

the ATV's owners manual.

Do not ride over stumps and branches, or on rocky ground, as this could damage the tracks or
their mechanisms and even could get you stuck.

Familiarised yourself with riding with your Tatou tracks. it rides differently than with wheals.

While driving into wildarnass, please raspact the anvironment and avold damaging plants or
disturbing wildlife.

In this booklet the right and lefi-hand sides of your Tatou tracks are determined while you

are sitting on your ATV.

Important : Tatou Tractions have been designed exclusively for winter
riding, on at least 12 " of snow.

Important notice :
Before you start assembeling the Tatou track system, please make sure you
have Annexe A that belongs to your type of ATV.

" TATOU

2



TATOU

MNote : All the drawings in this manual represent the latest information available at the time of
publising and are subject to change without previous notice.

This symbol points out that the misuse of the Tatou tracks could result to a potential break
down of this product.

THIS SYMBOL MEANS

THAT THERE IS A DANGER TO YOUR SAFETY OR OTHERS

SAFETY PRECAUTIONS
v Mever Iry to ajust the track if the engine is running or if the parking brake is not on.

v Regularly inspect all nuts and bolts, and tighten them if necessary to avoid costly repairs.

To prevent injuries, it is recommanded to avoid wearing large clothes or too long scarf
that could be engaged in the tracks.

" TATOU

3



V IMPORTANT NOTICE :

thie Tatou track system will take you to places unacessible until then. Make sur e
you know the limits of your vehicle baefore going to places, far out of the usual way.

V The following safety precautions are important to help you avold accldents.

In order to prevent injuries, read the safety advices carefully before installing and
using your tracks.

V Even when equipped whith tracks, only the driver may ride on the vehicle (see the vehicle's
owner's manual,and provincial or national regulations).

v Mewver allow a child to drive the vehicle (see road regulations and vehicle's owner's manual), nor
an adult who has not recelved proper training.

v Never let anybody usa the vehicle while under the influence of alcohol, drugs or medications.

Make sura nobody's hands and feat come near your Tatou tracks while they are moving, this could
cause serious injurias,

" TATOU



Tips and tricks while riding

In deep snow conditions do not spin your tracks,or you are liable to get stuck. If this does occur,
stop, back up slightly and go forward slowly.

@ Make sure the guide wheels and the tracks don't freeze.

@ Before every ride, de-ice the components of the tracks.

@ The slowest you go better traction you have.

Emergency tools

Two wrenches 5/8 or 16 mm for track tension
Two wrenches 1/2 or 13 mm for the guide wheels
An axe and a shovel

If you are going into unknown territory, bring a first ald kit, a call phone, a small axe,
and emergency tool kit, tow cable and a set of spare guide wheels.

Ride carefully, the snow may hide cbstacles such as stones, stumps, fences and other objects
that could be dangerous.

" TATOU



Stop engine and remove key bafore installing the track on your vehicle in order to avold asphyxiation by
exhaust gases.

V Wear adequate working clothes during installation : safety glasses, shoes and gloves.

V While installing your tracks, aveld spinning them with engine power.

@ Make sure that the tracks have the correct tensikon o ensure the comect position on the
guiding wheals.

For installing the track on your vehicla, choose an area with a claan and levelad floor, well lit and ventilated.

Put it in neutral. Shut off the angine, remove key, apply the parking brake and block the set of wheels which
will remain on the ground with chocks or wedges.

Generally, you might have to shorten the lower part of the fender ans make a rounded
design at the mating point of the footrest.

First, identify the rear and front tracks, as well as the right and left sides.

Serial number

FLAT TRACK FLEX TRACK

Back Front



REAR TRACE

1. Install wedges on both sides of the front wheels,

)

raise the rear of the wehicle with a proper jacking
device, choosing a stable point of support.

Install the adapting plate(s) under the vehicle. They
differ depending on the make and model of your
vehicle (see Annex A)

Install the assembled rear traction frames on o the
ATV axle hub fig.1 #4, secured by the O.E.M. whesal
nuts that applies fo the most ATV medels and
tightenad at the torque specified in the ATV owners
manual. Sea annax A for specifications on using
0O.E.M. wheel nuts for other models.

Fit the anti-pivot guide fig.2 #8 with a washear [ //%
/8 hig.2 #10 followed by a bushing 1/4 length. fig.2 #7. 1 e

Insert the anti-pivot guide in the hole of the J plate ?H"""-ﬂ‘ﬂu.
followed by a washer 3/8 fig.2 #10 and locknut 8
fig.2 #9. Must be torque to 25 foot pds. FIGURE 2 fj::
y/
e
Fit the stabilizing rod fig.2 #4 1o the adapting plate L1
under the vehicle fig.3 #5 with the hex bolt 3/8 - 16 x1 /2" I"-,
fig.3 #6 using 2 flat washers fig.3 #10 followed by the g @ "-: 1 FIGURE 3
busghing 3/8 length fig.3 #7, then install the arm #4 secured with o
flat washer 3/8 #10 and locknut 3/8-16 torqued to 25 foot pds. <
7--

guide tube fig.4 #1 of the rear adjusiment. Then
ingert the holding block fig.4 #4. Now you can get
the track owver the frame starting by the front
wheels, then over the sproket, finishing with

the rear.

FIGURE 4

.P|:<<5
10 i
Refer to fig.4 : first insert the ajustment rod into the [ { "_‘?j

Insart the aluminum shaft fig.4 #5 into the rear
wheel axie. Install the rear wheels and secure them
with a washer 516 x 1 1/4" fig.4 #7 and

fastenad with a bolt 8 x 1.25 x 20 fig.4 #6. Tightanad
them to19 foot pds. Using threads locker.



1. Install wedges on both sides of the back track and
raise the front of the vehicle with a proper jacking
device, choosing a stable point of support.

2. Ramove the two axle boot protectors from the lower
arms of the suspension.

3. Install the assembled traction frame on their respected
side using the OEM wheel nuts or otherwise describa
i arre A,

4. Fasten the anti pivot plate of the trail-arm (FIGURE B,
#1) to the retaining plate (FIGURE 6, # 2) with two
3/8 NC x11/4 LG bolts (FIGURE 6, # 3) and two
38 - 16 NC nylon nuts.

5. Install the fastening hex bolt fig.6 #8, 3/8 - 16 x 21/2
into the anti pivot braket then insert it in the skot of
the anti pivot plate, after install bushing #7 flat washer
#10 and nut #9. Torque to 25 foot pds.

6. Get the braket fig.6 #4 to be inserted in the lower arm
fig.6 #5 of the suspansion and fasten it with cover #4a
and bolt 3/8 - 16 x 2 1/2" and 3/8 x 16 nylon nut.
Torque : 15 - 19 foot pds.

~

Repeat items 6 and 7 of rear track installation to
have the track installed over the frame.

FIGUREG ~

hY FIXATION GUIDE
i
o] o 1 | ° e
must be of |
Lef Right

1/4 "to1/2 *

"._.________...--



Track tension adjustmant

Varify the tension by applying an the long part, and at the middle point of the track a pressure of 18 to 22
pds. This should giva you a deflaction of approximataly 1 incha/30mm (you can use any straight adge to
maasura tha distanca).

For adjustment, tighten the nut located at rear lower side of the Tatou frame (use two 5/8 wranchas).
This will give you ideal track tension.

Fig 5 front right side view

pressure 18 io 22 pds.

1on the middie point using & -/ / /f_,.::‘\\

belt tension gege) i._:
A long side "I—_._,_

Track adjustment nut
distance 1 incha30mm

Ajustment of the rear anti-phvot arm

Ensure that the ATV is on leveled ground, then ajust the
nut fig.7 #1 in a way that [t just contact the guide tuba
#2Mg.7.

Then, you ajust the rear nut #4 in a way that it will compress
the spring #3 by one full tum. That is to keap a pressure from
the rear of the track on the ground.

Lubricating

@ Verify the sprocket bearings each season.

Lubricate all four anti-pivot at the beginning of each new seasaon,

Lubricata the threads with greasa. Lubricate anti-pivot plate under the
sprockat with grease (a chain luba).



Dismantling and storing

Removing from your ATV: use the same safety rules as for the installation and start
by remaving the front traction.

After dismantling, it is highly recommended to store your Tatou tracks flat, in a dry cool place.
Away from the sun.

Before making any adjusternent or repairs to your Tatou tracks or to your ATV, stop the engine and
remove the key.

It is highly recommended to replace all broken parts with original Tatou parts. This should keep
your Tatou track from deteriorating. Just ask your local dealer.

Alignment

1. After putting your ATY on the ground, make 2. Using the center hole of the track,measure
the suspension bounce two to threa fimes in the front end of the front tracks (fig.B8)they
order to stabilise the tracks and drive it forward should be 1/2 " less wide than the back
for about ten feet and then measura. ends (fig.9).

Front end of the front track Fear and of the front track

For a better driving condition, make you should re-check the alignment after the "first” ride of
each new season.

Warranty

TATOU warrants this product against any defect that are due to faulty material or workmanship

for one season in winter conditions only. This warranty does not include damage to the product resulting
from accident, misuse, or repairs performed by unauthorised people. If the product should become
defective within the warranty period, or you have questions regarding warranty or service, call
consumer asistance and information toll free 1-868-533-0008.

" TATOU

10



This document contains important information regarding the handling of all terrain vehicles (ATVs)
aquipped with the Tatou Track System (hereinafter referred to as the "System”®.) It is of great importan-
ce that all users of ATVs equipped with the System carefully read this document and consult the ATV's
user guides and manuals. Upon purchasing either a new or used System, ensure that you have obtai-
ned all of its pertinent documentation and, where relevant, documentation related to the ATV on which

the System is installed, including without limitation user guides and manuals, maintenance booklets

and repair bills. If needed, contact the Tatou dealer closest to you for additional information. You may

also visit the Tatou Web site or contact a customer service representative by e-mail at info@e-tatou.
com, or by phone at 1-866-533-0008.

Tatou inc. believes there are risks associated with the installation and usage of the System. While ex-
perience demonstrates that the System is safe and secure, ATV operators must be aware of the inhe-
rent risks of handling such a vehicle, and of the specific characteristics involved with the System’s ins-
tallation. Operators of ATV equipped with the Systerm must, at all times, conform to applicable laws
and regulations and to manufacturer's specifications regarding both the System and the ATV, notably
in terms of the minimum age for handling ATVs, and in terms of all additional equipment such vehicles
must be fitted with (headlights, standing and braknnlli#hts. rear-view mirror, etc.) ATV users must also
wear the adequate protective gear, including a certied helmet, visors, clothing, boots and gloves. It

goes without saying that consumption of intoxicating substances, including alcohol, presents a clear
danger for ATV users.

The System is comprised of a number of moving parts, including driving wheels. Should an attempt be
made to dislodge a foreign object embadded within the System and impeading its proper functioning, it

is recommended that the ATV's power be cut to prevent any sudden and abrupt movement of the vehi-
cle, orof its moving parts, which could bring about serious injury. In addition to this, the wearing of
large clothing, such as long scarves, can lead to a s erious injury should the garment get stuck in any
of System's components.

Driving an ATV equipped with the System requires the right precautions and an understanding of dri-
ving techniques associated with this type of vehicle. The ATV operator's knowledge of terrain condition
(slippery ground, slopping, snow density, etc.) is equally important. An ATV equipped with the System
is not an appropriate vehicle with which to compete or to perform skill-testing feats, acrobatics, stunts
or other exploits. Such manoeuvres can lead to a loss of control. Insufficient control of the ATV during
a descent, a climb, a sharp tum or the clearing of an obstacle can result in an injuryr-r.ausin? or fatal
roll over. Also, transporting passengers, cargo or a trailer can throw an ATV off balance and limit the
driver's control. Unless specified by the A manufacturer, never transport passengers.

" TATOU

11



USER NOTICE AND DISCLAIMER (part two)

The System is designed for 4-wheel drive ATVs from North America’s main manufacturers, including
Arctic Cat, Bombardier, Honda, John Deere, Kawasaki, Kubota, Land Pride, Polaris, Suzuki and Ya-
maha . Tha System must never be installed on 2-wheel drive ATVs, whether as a replacement for the
driving wheels only or the driving wheels and the steerable wheeis.

Instal ing the System can have significantly different impacts on the behaviour of various ATV brands

als. It s tharefure imperative that drivers having acquired expearnence in hEMIII‘IﬂF& equip-
pad with the System adapt their driving behaviour accordingly when getting behind the dlebars of
other models equipped with the System.

The System is designed primarily for use on snow-covered surfaces. Tatou tracks offer a much ?matar
surface contact area than regular tires. The ground pressure per square inch is thus considerably redu-
ced which, in tum, impacts the behaviour of an ATV equipped with the System.

In general, ATV stability is dictated by the ATV's centre of gravity along with the interaction betweean
driver and vehicle. Installing the System can modify an ATV's centre of gravity by increasing its overall
h:ic?ht and unladen weight. Altering the centre of gravity can have an effect on the ATV's behaviour

thus requires that its handling be adapted accordingly. Due to the increase in height of the vehicle,
the driver must also exercise caution whean travelling undermneath obstacles. In addition, installing the
System typically results in an increase of the overall width of the ATV. The drver must therefore exerci-
se cautions when negotiating narmow passages, or when meeting other vehicles.

By design, the System can significantly reduce the ATV's top speed and distort a proper reading of the
speedometer. In general, the diametre of the System's driving wheel is smaller than that of the original
tire, in which case the speedometer reading will be greater than the actual speed of the vehicle. The
driver of an ATV, whether equipped with the System or not, must a adapt the vehicle's speed to
both weather and terrain conditions. Plus, the driver must never excead the limit imposad by his or her
level of ATV training and experience, as excessive speed remains a leading cause in AlV-related acci-
dents.

Tatou Track Systems have been commercially available for several years. A number of users have ins-
talled these systems for utility, commercially-orented purposes, thus subjecting them to nq:rnus and
intensive usage. A number of users have also installed them for recreational purposes. The Tatou com-
pany is proud of the safety record established through the System's many uses over the years. None-
theless, there are inherent risks associated with operating an ATV that is equipped with the System. It
s therefore necassary that ATV operators become familiar with handling techniques, that driving itself
be adapted to one's level of experience, and that a constant awareness of terrain conditions be applied
to ensure a safe and secure enjoyment of Tatou products.

" TATOU

12





